Module 1 — Integers — Answer

LESSON 1-1

Practice and Problem Solving: A/B
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Death Valley: —282; Mount McKinley:
+20,320 or 20,320

No. There are no whole numbers between
0 and 1, so there are no integers between
0 and 1.

Keys

LESSON 1-2

Practice and Problem Solving: A/B

.10>-2

.0<3

.-5<0

.—71<6

.—6>-9

.—8>-10

.—2,5,6

.-3,0,9

.-1,1,6

.1,0,-1

.2,1,-12

.-10, -11, -12

. 205, 50, -5, -20
.78,9,-78,-89
.0,-2,-55,-60
.28,8,0,-8

.38, 37,-37,-38
.11,1,-1,-111

. Brenda, Tim, Carl, Ali
. Tuesday, Wednesday, Monday
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LESSON 1-3

Practice and Problem Solving: A/B
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10.5

11. The absolute values of 6 and —6 are
the same.

12. opposites
13.-20

14. -6
15.-8

16. 20

17.6

18.15

19. Monday; the greatest negative number
shows the greatest amount spent.

20.]3 + 10| = |13| = 13; |3] = 3 and |10] =
10; 3+10=13;13=13

21. two; possible answer: —4 and 4

MODULE 1 Challenge

1. —114° 78°
< ® ® > °C
Freezing Boiling
point point
—173° 173°
< ° L > OF
Freezing Boiling
point point

The Celsius degree is larger, or the
Fahrenheit degree is smaller.

2.a.-3,-6,-6,-6,-7,-6, -4
b.-7,-6, -6, -6, -6, -4, -3
c.5,9 18,8, 21,12,12
d.5,8,9, 12,12, 18, 21
e. none
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